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install.packages ("ggplot2")
install.packages ("dplyr")
install.packages ("broom")# this support the leaps package
install.packages ("ggpubr")

library(ggplot?2)
library(dplyr)
library (broom)
library (ggpubr)
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Data=read.table ("income data.csv",header=TRUE)
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Data=read.csv ("income data.csv",header=TRUE)
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head (Data)
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summary (Data)

(HLSioo s9y) solbs oo Hd 1y Leodly Jould attach Hadws Lo
1008 o by Jobld ool S el S g3y sla g rie guaw g 0010yl 43
Data=attach (Data)
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hist (happiness)
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mod=1m (happiness~income)
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summary (mod)
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plot (income, happiness)
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abline (mod)
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plot (modSresiduals)
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boxplot (mod$residuals)
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shapiro.test (modSresiduals)
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boxcox (mod) #
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happiness=0.2043+0.71381income
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Modl=1m (happiness~income-1)
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par (mfrow=c(2,2))
Plot (mod)
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mod=1m (scale (happiness)~scale (income))
summary (mod)
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heart=read.csv ("heart data.csv", header=TRUE)
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summary (heart)

summary (heart[,2:4)
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boxplot (heart [,2:41])
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heart =attach (heart)
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cor (biking, smoking)
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hist (heart.disease)
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mod=1lm (heart.disease~biking+smoking)
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summary (mod)
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plot (mod$residuals)
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shapiro.test (mod$Sresiduals)
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boxcox (mod, lambda = seq(0.7, 1.2, 1/10))#
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Calories=0.7558+3.9763sugars+4.0426carbo+3.9271protein+8.4369fat
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